m] xi[m]

SIS IR - BLEws Eﬂt‘lﬁém'ﬁ'{ﬁé FHaFLIZ
BANGHES h[IIEREDAL RN FER e 7
BRI P 2 X RS HP
6/27 (B)(6/26 (+){6/26 (+)]6/24 (%)|6/19 (£)[6/13 (B)[6/12 (£)|6/11&)| 6/9 (%) [ 6/6 (B) | 6/6 (B) | 6/6 (B) | 6/5() | =AFHEA | FBKER
1000-1700| 1500 | 900-10:30 | 1030-1100{10:00-1200| 100-1700| 900-1200 | §/28(8) | 930-  |1330-1500 930 830400 | §/160K) | 1000-1300] 1300-15:00
= Ic |Fse|FED| Ry 2| t00-030 z | @ 2 b/14.281R)| SRARA
:7':7‘*; g i ,ag 3 im 13\33 Lhy 10001500 % <i 5 115 [1oo-120]130- 150 -2
Lid o Bl R 2z | < A L 82273
AY: =22 72N i |
2 |18 EE TR 7 |77 | | = | EE (g 0 T
- > N e o = i .
Za| W BB AN s = | & | [ |52 = | HLEZ3An=EE
rgbe) x CTARGBNY o\ M | Q3 SR 7ER
=5 o ‘NP |8 | IS (BB | > | S5 LS fijm L |g=q
_ o A = | < |28 = | 7|3 L&
F 2 2| TR e € | 7| CE R[> | EZEABTE
Bz W i i &l [10:00-1200 g I3 =2 | |23 CExlA %
T C 2N s — — - — . 3
o 8 | 2| %2 & (Hitn| o |x8 8 =k (7gs kX
gl = | = “ ‘ == ° 2 | [T
Bl = & |72 | S| & |z min S * 0 |FE
2 - SICEEC IR NI R | F | L Ea
g e 8y || = | |B5n | 252
% F Yz | = | BB 4 B=< 18 <
£ m & | s | 4 =1 =+~
5 4 = ™ — = 2= | =2 m o
7 3| | 8| = =32 2
s = e | 7 =
3t 3 Z = | = =
& - =
N\IZNI7 | EE 72— | FRAGERD | PllE | ARILEE | NIRTIT | e hlllihi | A7-YIhia | Dl | b 42— wea | =T | o o 1]
BE | M0EAD | EME |[mEEVe—| HER | Mk | VABE| pnosy | g8 |wrre| saman |TIRIRS | gepen | 70N wres g




